RIVKLE?® - Tuercas remachables - Aluminio

Aluminio | Cabeza plana | Liso | Abierto

M3 10,5 8,0 0,50 - 2,00 50 S=3,2-e 54 0,75 233 00 030 020
1075 76 2.00- 3,50 ' S=48e O 10 233 00 030 035
ma 110 90 0.25 - 2,50 so S4le 63 10 233 00 040 025
13,0 10,0 3,00 - 4,50 ’ S=5,9-e 6,4 0,75 233 00 040 046
ws 186 100 050-300 Lo S=ASe 78 g 233 00 050 030
160 110 3.00-550 : S=6.7-¢ | 88 ' 233 00 050 056
16,6 0,50 - 3,00 S=50- 104 233 00 060 030
M6 50 | 180 300-550 90 S68e ror MO 233 00 060 056
20,0 0,50 - 3,00 S=58e 127 233 00 080 030
M8 o0 180 3'00-550 N0 s 706 915 19 233 00 080 056
25,0 0,80 - 3,50 S=62-¢ 168 233 00 100 035
Mio o, 190 350 6,00 180 5876 raz0 20 233 00 100 060

Aluminio | Cabeza plana | Liso | Cerrado

(N

€ (min - max)
(mm)

13,5 0,25 - 2,00 S=3,0- 93 233 20 030 020

B - e 2.00 - 3.50 50  s4se rgg O 23320 030 035

me 185 100 050-300 so  S=40e 108 075 233 20 040 030

. 181 90 250 - 4.50 : S-5.6-e (116 | 1,0 233 20 040 045

| ws 190 110 050-3,00 oo Ss4se 135 233 20 050 031

;é 21,9 10,0 3,00 - 5,50 ’ S=6,9-e 14,0 ’ 233 20 050 055

. we 230 5o 050-3,00 oo  Sw4se 178 . 233 20 060 031
—2 26,3 ’ 3,00 - 5,50 ' S=7,7-e | 17,1 ' 233 20 060 055
24.0 0.50 - 3,00 S—45e 180 233 20 080 031

M8 510 | 180 3000-550 M0 s g5¢ 210 P 233 20 080 055

M10 37,5 19,0 3,50 - 6,00 18,0 §=9,0-e 26,5 2,0 233 20 100 060




BOLLHOFF

Aluminio | Cabeza fresada | Liso | Abierto

10,2 13-35 S=40-e 61 233 10 030 035
M3 g T2 35-50 e 18 s60e 57 o1 233 10 030 050
15 90 17-35 15 S=dd-e 233 10 040 036
M4 108 |82 3.5-5.0 o 18 s=60e o7 901 53340040050
ws 130 100 1.0-4.0 s 09 S=55e 78  ,, 23310050040
163 | 96 40-65 : 15 S=7.7-e | 85 ' 233 10 050 065
170 120 1.7-45 S-63e 104 233 10 060 046
M6 57 117 45-65 2l 15 s87e g9 9 233 10 060 065
190 140 17-45 S=75e 127 233 10 080 046
M8 o0 135 45-65 N0 115 5 936 28 O 233 10 080 065
wio 210 154 17-45 126 . S=7se 182 . 2331010004
261 155 45-65 13.0 S 5_104-e 170 ' 233 10 100 065

Aluminio | Cabeza fresada | Liso | Cerrado

14,1 15-35 S=40-e 100 233 30 030 035
157 2 35-50 2l 18 s60e g5 O 233 30 030 050
177 15-35 Sedb-e 11,6 233 30 040 035
M4 o3 | 82 35-50 o 18 s60e 118 91 233 30 040 050
M5 194 96 15-45 7.0 15 S=57-6 136 0,1 233 30 050 045
252 15-45 S=6.5-0 233 30 060 045
NS e 45-65 o B3N == B L 233 30 060 065
30,0 15-4,5 S=6.9-¢ = 21,4 233 30 080 045
Ll R 0 45-65 Mo 15 sg1e 213 O 233 30 080 065
1o 339 ioe 15-4,5 50| 15 S5 e o 233 30 100 045

233 30 100 065

36,0 4,5-6,5 S=9,5-¢




